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After considering the challenges received following modifications in the model solution
has been approved:

Coordinating Institute: National Institute of Technology Jamshedpur

Changes is model solution after considering the Challenges

SNo QUESTION
ID

EXISTING ANSWER/KEY CORRECT ANSWER/KEY

7 69L186632 ln between the lines
2x+3y:6 and 2xr3y=-6

1. ln between the lines
2x+3y=6 and 2x+3y=-6
2. on the same side of the
line 2x+3y=$
3. on the same side of the

line 2x+3Y=-6

Multiple
solutions are

correct.

2 6911.86649 ) None as the question is

incomplete
Question is
withdrawn

3 6911.8671.3 9 z1 Question is
withdrawn
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